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M.Com. DEGREE EXAMINATION – 

JUNE 2009.

Second Year

(AY 2003–04 and CY 2004 batches only)

ADVANCED COST ACCOUNTING

Time : 3 hours Maximum  marks : 75

SECTION A — (3 × 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. Define  opportunity  cost  and  explain  with  an 

example.

\¢uº¨£  ©v¨¦  C»UPn®  u¸P.  ©ØÖ®  Aøu  J¸ 

Euõµnzxhß ÂÍUSP.

2. What is cost control? What are its essentials?

AhUPÂø»  Pmk¨£õk  GßÓõÀ  GßÚ?  AÁØÔß 

¬UQ¯zxÁ[PÒ ¯õøÁ? 
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3. Sales and Profits for 2 years are :

Year Sales Profit

2004 Rs. 1,50,000 20,000

2005 Rs. 1,70,000 25,000

Calculate  P/V  ratio,  BEP,  Fixed  Cost  and  Margin  of 

Safety for 2005.

Cµsk Á¸h[PÐUPõÚ ÂØ£øÚ ÷©¾® »õ£®

Bsk ÂØ£øÚ »õ£®

2004 ¹. 1,50,000 20,000

2005 ¹. 1,70,000 25,000

 £[PÎ¨¦  Ãu®,  »õ£  {mh©ØÓ  |ø»¨¦ÒÎ,  |
ø»¯õÚ  ö\»Ä  ©ØÖ®  2005  BsiØPõÚ  £õxPõ¨¦ 
£Svø¯ Psk¤iUPÄ®.

4. Calculate Reorder level and Maximum level.

Maximum consumption 420 units/day.

Minimum consumption 240 units/day.

Reorder period 10 to 15 days.

ROQ 3600 units.

©Ö  Bøn  AÍÄ  ©ØÖ®  Ea\  \µUQ¸¨£ÍÄ 
PnUQkP.

AvP AÍÄ £¯ß£õk 420 A»SPÒ {õöÍõßÖUS

SøÓ¢u AÍÄ £¯ß£õk 240 A»SPÒ {õöÍõßÖUS

©Ö Bøn Põ»® 10 – 15 {õmPÒ
©Ö Bøn AÍÄ = 3600 A»SPÒ.  
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5. Prepare a cost sheet :

Purchase of                 Rs.

Direct Material  1,20,000

Direct Wages 1,00,000

Works overhead 48,000

Carriage in 1,440

Op. Stock :

Material 20,000

Finished goods (1000 units) 16,000

Cl. Stock :

Material 22,240

Finished goods (2000 units) —

Work-in-progress :

Opening 4,800

Closing 16,000

Sale of finished goods 3,00,000

Selling  expenses  Re.  1  per  unit  production

16000 units.

AhUPÂø»¨ £mi¯À u¯õ¶UPÄ®.             ¹.

»¨ö£õ¸Ò öPõÒ¬uÀ  1,20,000

÷{µiU T¼ 1,00,000

EØ£zv ÷©Øö\»ÄPÒ 48,000
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öPõÒ¬uÀ «uõÚ åµzx 1,440

Bµ®£ \µUQ¸¨¦ 20,000

Bµ®£ ¬ØÖ¨ ö£ØÓ ö£õ¸Ò

(1000 A»S) 16,000

CÖv \µUQ¸¨¦ 22,240

CÖv ¬ØÖ¨ ö£ØÓ ö£õ¸Ò

(2000 A»S)                   —

£i¬øÓ°¾ÒÍ ÷Áø» (Bµ®£®) 4,800

£i¬øÓ°¾ÒÍ ÷Áø» (CÖv) 16,000

¬ØÖ¨ö£ØÓ ö£õ¸Ò ÂØ£øÚ 3,00,000

EØ£zv  16000  A»SPÒ.  ÂØ£øÚ  ö\»Ä  1  A»SUS  
1 ¹£õ´.

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. Explain  with  examples  waste,  scrap,  spoilage  and 

defectives. How would you treat them in cost accounts?

PÈÄ¨  ö£õ¸Ò,  PÈ¨¦¨  ö£õ¸Ò,  ÷\u¬ØÓ  ö£õ¸Ò 
SøÓ£õk  EÒÍ  ö£õ¸Ò  CÁØøÓ  uUP  Euõµn[PÐhß 
ÂÍUS.  AÁØøÓ  AhUPÂ¯À  PnUQ¯¼À  GÆÁõÖ 
øP¯õÍ ÷Ásk®? 
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7. Distinguish  between  Budgetary  Control  and 

Standard Costing.

ÁµÄ ö\»Ä vmhU Pmk¨£õk ¬øÓUS® uµ AhUPÂø» 
PnUQ¯À ¬øÓUS® EÒÍ ÷ÁÖ£õkPøÍ ÂÁ¶.

8. Calculate labour variances :

Job to be completed in 30 weeks.

Std. Actual

No. of 

workers

Rate/

Week

No. of 

Workers

Rate/ 

Week

Skilled 75 60 70 70

Semi-skilled 45 40 30 50

Unskilled 60 30 80 20

Work was actually completed in 32 weeks.

£o¯õÍºPÎß ©õÖ£õkPøÍ PnUQkP.

30 ÁõµzvØSÒ ¬iUP ÷Ási¯ ÷Áø».
uµ® Esø© Áõµ[PÎÀ

£o¯õÍºÁõµ T¼ £o¯õÍº Áõµ T¼

£°Ø] ö£ØÓÁº 75 60 70 70

£Sv £°Ø] ö£ØÓÁº 45 40 30 50

£°Ø] ö£ÓõuÁº 60 30 80 20

£o 32 Áõµ[PÎÀ ¬iUP¨£mhx.

9. From a joint process two products were produced A 1 

lakh  kg  having  a  selling  price  of  Rs.  1/kg,  and  
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2 lakh kg of B having a SP of Rs. 1.50/kg. Join cost was 

Rs. 2,00,000.

If  A is converted into  C it can be sold at Rs. 3/kg. The 

cost of conversion will be Rs. 1,75,000. Advice.

J¸ Tmk EØ£zv ¬øÓ°¼¸¢x Cµsk ö£õ¸mPÒ 
EØ£zv¯õQßÓÚ.  A  1,00,000 Q÷»õ  ÂØ£øÚ  Âø»  
¹.  1/Q÷»õ  B  2,00,000  Q÷»õ  ÂØ£øÚ  Âø»  ¹.  1.50/

Q÷»õ ö©õzu Tmk ö\»Ä ¹. 2,00,000.

A  ö£õ¸øÍ  C  BP  ©õØÔÚõÀ  1  Q÷»õ  ¹.  3  Ãu® 
ÂØP»õ®.  AI  C  BP  ©õØÖ®  ö\»Ä  ¹.  1,75,000. 

B÷»õ\øÚ ÁÇ[SP. 

10. Write notes on :

(a) Bincard.

(b) Stores ledger.

(c) ABC analysis.

(d) EOQ.

]Ö SÔ¨¦ ÁøµP :

(A) öPõÒP»ß Amøh

(B) \µUS ÷£÷µk

(C) ABC £S¨£õ´Ä

(D) ]UPÚ öPõÒ¬uÀ AÍÄ.

11. Calculate fixed (off) variances :

Budgeted F (off) Rs. 6,000.
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Budgeted output 10000 units.

Budgeted hours 5000.

Actual F (off) Rs. 5,000.

Actual output 8000 units.

Actual hours 5000.

|ø»¯õÚ ÷©Øö\»Ä ©õÖuÀPøÍ PnUQkP.

|ø»¯õÚ vmhªmh ÷©Øö\»Ä ¹. 6,000

vmhªmh EØ£zv A»SPÒ 10000

vmhªmh ©o ÷{µ[PÒ 5000

Esø©¯õÚ |ø»¯õÚ ÷©Øö\»Ä ¹. 5,000

Esø©¯õÚ EØ£zv A»SPÒ 8000

Esø©¯õÚ ©o ÷{µ[PÒ 5000.

12. Find profitable product mix :

A B C

Max. units produced 

and sold 1500 2000 1000

SP/Unit Rs. 60 Rs. 55 Rs. 50

Requirement/unit 

D. Mat 5 kg 3 kg 4 kg

Cost of mat/kg Rs. 4 Rs. 4 Rs. 4

D. Labour 4 Hr. 3 Hr. 2 Hr.

R/Hr Rs. 2 Rs. 2 Rs. 2

V. (off) Rs. 9 Rs. 14 Rs. 6
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A B C

F (off) Rs. 5 Rs. 5 Rs. 5

Material available 12000 kg. D. Labour Hr. 10000. Both 

mat. and Labour being the key factor.

AvP C»õ£® uµUTi¯ EØ£zv P»øÁø¯ PnUQkP.

A B C

AvP £m\ EØ£zv 
  ©ØÖ® ÂØ£øÚ 
  A»SPÒ 1500 2000 1000

1 A»Qß ÂØ£øÚ Âø» ¹. 60 ¹. 55 ¹. 50

÷{µi »¨ö£õ¸Ò 5 Q÷»õ3 Q÷»õ4 Q÷»õ

1 Q÷»õ »¨ö£õ¸Ò Âø» ¹. 4 ¹. 4 ¹. 4

÷{µi EøÇ¨¦ 4 ©o 3 ©o 2 ©o

1 ©o T¼ ¹. 2 ¹. 2 ¹. 2

©õÖ® ö\»ÄPÒ 
1 A»SPÒ ¹. 9 ¹. 14 ¹. 6

©õÓõa ö\»ÄPÒ 
1 A»SPÒ ¹. 5 ¹. 5 ¹. 5

÷{µi  »¨ö£õ¸Ò  EÒÍx  12000.  Q÷»õ  
÷{µi  EøÇ¨¦  ©oPÒ  10000.  EøÇ¨¦,  »¨ö£õ¸Ò 
Cµsøh²® ¬UQ¯ PõµoPÍõP öPõÒÍÄ®.  

————————
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